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                        欢迎加入四六级定制学习群：666855181

2018年11月六级口语考试真题:二孩政策

今天是2018年11月18日，大学英语六级口语考试也终于如期而至。口语考试的时候往往是许多考生最为紧张的时刻，不过口语考试并不是什么洪水猛兽，只要稍加练习，做到有话可说，就不会在考场上出现尴尬的场面。第四场个人陈述的主题为“two-child policy”，我们来看一下就这一主题展开的一些常用的表述：

With the advent of the aging population in China, its central government has ended China’s population control policies in order to boost population growth.

In the past peopling living in the rural areas were often permitted to have two children, with the exceptions that if the first child was a son, and couples who broke this regulations would have to pay a big fine amount to tens of thousands rmb.  Despite of the punishment, a lot of couples chose to give birth to a second child, contributing to the population boom in the 1950s. The huge population provide China abundant labor and consumer market, and boost China’s economic growth. 

With the cost of raising children going rocket high, and a long  period of tertiary education , young people postpone their marriages till early 30s thus resulting a lower birth rate. Though government encourage fertility rate by lifting up restrictions, but couples would rather invest in one child as opposed to two children giving the high costs of raising another child in China, besides, the childcare system also needs to be further developed. 

Therefore, unless government make efforts  to ensure that women’s right protected while on maternal leave, and the cost of child care  affordable, it will unlikely that the two-child policy will yield results.

以上就是文都四六级英语老师为各位考生带来的六级口语考试的个人陈述部分，希望能够对各位考生有所助益。最后，文都教育祝各位同学都可以取得令人满意的成绩。
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